SHAEE SREE7r—k S5 T e

KRFLILZERD=OIC, FHIOFENFTM2EEDHBREMTTVET,

1 Alvdy

REE

E2 ]

CRYD A (RE) IZEBLILTLS

R4 HfH 1%
R3mx#& 1%
R3HfH 1%
R2Ex#% 1%
R2HfH 1%
R1Ex#% 1%
R1 e 1%

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

BZ5B5 mEVEVLESIRS nHFYEIBELELY mESEHIGN

CRYD A (RE) FELILTNS

R4 AR
R3mHE 2%
R3] %
R2Ex#& 2%
R2HA 2%
R1EHE 2%
R1 R %
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
BZ5RS mEZVWESES  mHFUYESIEDLEL mES3BHA0
OBRLNOYEE->TEFELTLS
R4 HhfH 0%
R3&HE 0%
R3HfH 0%
R2Ex#% 0%
R2 A fH 0%
R1&HE 0%
R1HfHE 1%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
R4 FhfE %
R3FwAE 0%
R3] 0%
R2EH& %
R2HfH 0%
R1&#E % 0%
R1d %
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

EZE3ES mEVELESES  nHFYLIBRHLLY mES3BbhAL



2 HLED

om
b

RiEE

OEATHNESDONRTETINVS
R4 AR %
R3FHE 2%
R3]
R2EXHE %
R2HfH 3
R1EH& 1%
R1HAR
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
R4 T 1%
RIFIE 0%
R3HH 1%
R2ER AR 1%
R2 H 1%
R1E#& 1%
R1HfE %
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
R4 AR %
RIFwHE 0%
R3 1 fH 0%
R2ERHE 0%
R2 0%
R1EH& 0%
R1 e %
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

BE5B5 mEVEVLESES e HFYEIBDLELY mESEbHLN

3 RRPEXH

REE

B

OFHEN IR -MIGERPERKZELTND

R4 AR

R3mHE 1%

R3 e fH 1%

R2Ex & 1%

R2 e 1%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

RA R

R3FHE 1%

R3 1%

R2ExH 1%

R27fH 1%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

R4 R

R

R3]

R2ERH&

R2 1

%6 z 10% _ __60% 70% 80% 90% 100%
BE5ES mEVNEVESES mhEYESEDHLLEL mE53EbAN

0% 10% 20% 30% 40% 50%



4 ATATDIL—IL

om
bt

RiEE

43

5 EEf

om
bt

RiEE

A

ORETTLEFRIZUS —LHFLIZYT HLZDRMOL—IL) FRHTLVS

R4
R3EAZ
R3]
R2Ex#&
R2 e
R1ER#&
R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

R4 fH 1%
R

R3 q:'FEi (]
R2EX#E

R2 0

R1E#E

R1 HfE

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
EESES mEVELESES s HFYEIBLELY mE3RLEN

OCRBEOATA7 -0 bA— )LEEEFEEICOVTHEELTWLS

R4 e 0%
R3FHE %
R3] %
R2Ex#& 0%
R2 1] %
R1Ex#& 0%
R1 e 0%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

EZSRS MEVEVESES mHFYESIBHEL mE3BHAL

O#ATEHLTNS
R4
R3ERAR
R3]
R2ER &
R2
R1&HE 2%
R1HRfE 3%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
R3EZIE
R3HfH
R2E#%
R2M71H
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
R4 i b
R3Fw & 0%
R3HfH 2%
R2EH& 0%
R2HfH 0%
R1E#& 4%
R1 e fE 0%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

BZE3/S mEVEVESES  nHFYTIRHLLY mE3BbhEN



6 E<ED
CHADEZPRYEBEYEELTNSD

R4 HhfH]
R3ERH&
R3]
R2EZHE
R2 A

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

om
[

BB pamps
R3FTH#E
R3HfH
R2E#&
R2 g

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
BT3RS MEVELESES HFYLI/bLEL mE3EHEL

7 FEEM
CEFBLEHDETTANTEEERNBEILL LD REMNB0% U LN ERTES

R4 eh
RIEAR
R3
R2Ex#
R2 e
R1ER#&
R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

E24]

BZ5B5 mEVEVLESES nHFYEIBELELY mESEHGN

8 REXE
OEE X107 +100DREZEELTNDS

- R4 e
RE ragg
R3]

R2FZH&

R2 e

R1E#

R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

RA[H
R3Em#E
REx R3 A
R2E#
R25fH
R1E#E
R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

R4 H
R3m#E
R3]
R2Ex#&
R2 e
R1&#&
R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

£

BZ5BS mEVEVLESIRS pHFYEIBELLL mESEHIGN

1%

100%

0%

0%
0%

100%

0%
0%

100%

100%

100%

0%

6 0%
0%

100%



9 BFHmRE

OFRIL. BIBHIZFEMRERFEITOTWLD

_ R4
REE
R3ZAR
R3]
R2EZH#E
R2
R1E#&
R1dafE
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
HEEE  RAHRE
R
R3]
R2ERH&
R2 0
R1E#&
R1HafE
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
BZ5R5 mfZWV:ESRS mHFUYESIERDAEL mE53Bbhin
10 R2HER
OI—ILEFHOTREICEFRLTLNS
— R4
RE RIZI 1%
R3 e 1%
R2Ex#% 1%
R2 1 2%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
BZ5ES mZWEWESES s hFYESEDLEL mES3RbHAN
OZREDME=HIZENMNTEFITOTLNS,
- R4 e 0%
*REE RIBIE 0%
R3] 0%
R2ERHE 1%
R2F1H %
R1E#& %
R1 e 0%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
BZ5R5 mEVEVWESIRS s HhFYETSEDLAEL mE3Rbhin
OERNNBITEREDRLIZONTIEELTLNS
BB RrachRg 0%
R3mHE 0%
R3] 0%
R2ExH& 0%
R2 6 0%
R1Ex#& 0%
R1H1RE %
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

EZ3/S mEVEVESES  mHFYTIBRHLLY mE3BhEN



<BEEH>
O FEETEIHR - DUMNHEE

OREHENFETEIHRSPRERTDOUAYERDLHFBZEBHIIATS

R4 HfH
RBEHE
R3]
R2ERHE
R2HfH
R1ERAE
R1 A

0%

RiEE

10% 20%

R4 Hf
R3EHE
R3fH
R2ER#E
R2 5 fH
R1ER#E
R1 A

A

0% 10% 20%
nZ5ES

O LWLHDEELE

30% 40%

30% 40%

BEWEWESES

50% 60%

50%

nHFEYESBHIEN

60%

0%
0%
1%
%
1%
0%

90% 100%

70% 80%

0%
0%
0%
0%
0%
0%
0%

70% 80% 90% 100%

B 5 RHIE0

QUVLHDERERET V7 —MMKYFEHRELEL LLHORHRRE - RHAMITITRITTNS

BWE R4
RBEHE
R3]
R2ERHE
R25fH]
0%

10% 20%

mZ5ES

O #AMYPLTIMRE
OBEEAMYPT LY

R4 HfH
R3EH
R3]
R2&#&
R2 5 fH
R1ER#
R1 5

0%

oI
belt

10% 20%

30% 40%

BEWVESRS

30% 40%

ORMYPTIMREIVITHARYBAT

R4 HfH
R3ER#E
R3HfH
R2ERH&
R2HfH
R1EH&
R1HfE

0%

24

10% 20%

mZ5E5

30% 40%

BNV NESRES

50%

HFEYESI/BHIEN

60%

50% 60%

50% 60%

B HFYESIRHIEN

0%

0%
0%
0%
90% 100%

70% 80%

B3 Ehin

70% 80% 90% 100%

%

0%

%
0%
0%
0%

70% 80% 90% 100%

B3RO



OEATEEIZRYBA TS

=
RE

RiEE

R4 HfH
R3Em#E
R3]
R2ER#E 3
R2H
R1&#& 3
R1 e

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

R4HfH
R3FZHE
R3HfH
R28ZHE
R2fH
R1&#&
R1AE

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

EESES mEVEVESES  nHFYTIRHELY mEI3BHEL



